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Time: 1:30 Hours
Instructions: Marks: 42
; :f:r':;?etpe right in_dica?e marks.
- Afiswer an;\/ti?eueeztfut);s in the guestion paper.
________________ e following questions.
Q.1(a) Change the degree of the following.
1. Dhruv played better than Mahesh. ©n
2. The Nile is the longest river in world.
3. No other teacher is so intelligent as Dr. Shyam.
4. Very few girls are as beautiful as Shyamli.
5. Mercury is heavier than most other metals.
6. Jaipur is the oldest cities in India.
7. Raj runs as fast as Shyam.
Q.1(B) Do as directed of the following. (07)
1. The synonym of word ‘well-known’is Tl
(A) famous (B) grand (C) notorious - (D) fame
2. The synonym of the word ‘result’is i e
(A) Lonely (B) consequence (C) preparation ‘ '(D) golden
3. The synonym of the word ‘comfort’ is : :
(A) Solace (B) condemn ~ (C) criticize (D) appreciate
4. The antonym of the word ‘hard-working’ is CiemTE
(A) Conduct  (B) lazy (C)sleepy - (D) helpless
5. The antonym of the word ‘costly’ is e
(A) cheaper  (B) fastly (C) quickly (D) calmly
6. - The antonym of the word ‘protest’is
(A) Carry (B) favour (C) fetch (D) crumb
B 7. The synonym of the word ‘victory’is S
(A) Triamph  (B) defeat (C) defect (D) fault
Q.2(A) Do as directed of the following, (07)
1. Provide prefixes to the following words;
(i) credible - (ii) respect (iii) proper (iv) curricular
2. Provide suffixes to the following words;
(i) Bewilder  (ii) wood (iii) wonder
Q.2(B) Give the meaning of following phrasal verbs and use in a sentences. (07)
1. Carry on
2. Look afier
3. Knock down
4. Getout
5. Put up with
6. Come across
7. Dropin 07)

Q.3(A) Write a letter to Post Master General about irregularity of a postman.



ions given below.

e gollowing pafatgrali)sh ::](ljc?instl\:/: rf;lf]t(l:lunjiita becgause of the answers of wisdop it

he Ma.hab.hm:] ij:te ral part of the Mahabharata. To understand the Gita, one must
tg s'bT{’efGt;:: [],j,:l:groufd story of the main characters of the Mahabharata, Before the
,christil;’ erlf:, ’King Yudhisthira, known as Dharamraja, ruled ovclr t;]?]poy§§:li:1r;lidomﬂ0f
Indraprastha. His four brothers Bhima, Arjun, Sahadeva and Naku a’ ;;‘Zethe Pandavasm;h er
of administration. They were the five sons of Pandu. So t!wy were .Cddb. el . They
were very rightcous and virtuous. The people of the kingdom lived in perfec peace and
prosperity under their rule.
Questions:

1. Why the Mahabharata is called the Fifth Veda?
What is the integral part of the Mahabharata?
Who is known as Dharmaraja?
Who helped Yudhisthira in the matter of administration?
Why were the five sons known as the Pandavas?
What are the qualities of the Pandavas? |

7. What is the name of the Pandavas’s kingdom?

Q.4(A) Answer the following questions in one line each.

1. Where did the Olympic Games of 1936 held?
Who was Abrahm Lincoln? g =

AN Sl

Where did the Swallow want to go for the winter?
Who is the author of the story “The Happy Prince’?
6. What is the name of Richard Wright’s autobiography?
Q.4(B) Answer the following questions,
1. What did the statue of the Happy Prince look like?
. 2. How did the Richard Wright describe the boat?
3. Why did Khushwant Singh live with his grandmother?

4. Why did Abraham Lincoln write thig letter?
Q5  Write any two short notes,

L. The end of the story The Happy Prince.
2. The appropriateness of the title <7’ 1 Hungyry,

3. Khushwant Singh’s Grandmother
4. Jesse Owens as an athelete,

QAL

******************************

Which are Khushwant Singh’s well-known novels? = = *”" ‘

(07)

(09)

(14)
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Instructions:

1. Figure to the right indicate marks.

2. There are five questions in the question paper.

3. Answer any three of the following questions.
YR euglien yuat stalloll Al 2. (1¥)
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(3) 380oll AL Rgict 25lA sl2A UneAAl.
(¥) cauwidl dslef Heed UMl
7 ENGLISH VERSION

Q.1  Discuss the Primary ﬁlﬂctions of Money. (14)
Q.2 Explain the theory of Money Quantity of Fisher. (19
Q.3  Explain non-conventional functions of Commercial Banks. (14)
Q.4  Explain the theory of effective demand of Keynes. (14)
Q.5  Write any two questions. (14)

(1) Explain of the Concept of Multiplier.
(2) Explain the limitations of Credit Creation.
(3) Explain the theory of Employment of Keynes with diagram.

(4) Explain the Importance of Commercial Banks.
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Instructions:

1. Figure to the right indicate marks.

2. There are five questions in the question paper.

3. Answer any three of the following questions.
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Following is the Balance of Gajanand Ltd. as on 31-03-2020.

Particulars Debit Rs. Particulars Credit Rs.
Opening Stock 1,50,000 | Equity share capital (each of Rs.10) | 5,00,000
Purchases 3,82,000 | Purchase return 10,000
Salaries 72,000 | Sale 11,50,000
Furniture 25,000 | Discount received 6,300
Rent 15,000 | Profit and Loss A/c. 1,70,000
General Expenses 11,000 | Creditors 33,700
Debtors 54,000 | General reserve 82,000
Plant-Machinery 12,00,000 | Reserve for Bad debts 3,000
Bank Balance 21,500 | Bills Payable 13,000
Computer Software 9,000
Bills receivable 14,000
Bad debts 6,500
Discount given 8,000

19,68,000 19,68,000

Additional Information:;
(1) Stock on 31-03-2020 was Rs.2,00,000.

(2) Provide Depreciation on Plant & Machinery at 12%, on furniture at 10% and on
computer software at 20%.

(3) Write off additional Rs.4,000 as bad debts on debtors and provide at 5% reserve for bad
debts on debtors.

(4) Provide provision for income tax at 35% on profit.

(5) The Directors of the company recommended 25% dividend on equity share capital.
(6) Provide corporate dividend tax on proposed dividend at 20%.
(7) Transfer 10% of profit after tax to general reserve.

From above information prepare final accounts of the company of 31-3-2020 as per
schedual-3 of the company Act-2013.

Following is the Balance sheet of Krishna Chemical Ltd. as on 31-03-2020.
Balance Sheet

Liabilities Rs. Assets Rs.

4,000 Equity shares each of Rs.100 fully paid up 4,00,000 | Land 2,00,000

9% 1000 Redeemable preference share each of | 80,000 | Building 1,85,000

Rs.100, paid up Rs.80

10% 1000 redeemable preference share each of | 1,00,000 | Machineries | 1,00,000

Rs.100 fully paid up

Security premium 10,000 | Investments 70,000

General reserve 75,000 | Stock 1,00,000

P& L Alc. 35,000 | Debtors 90,000

Creditors 1,00,000 | Cash on hand 55,000
8,00,000 8,00,000

The company has decided to redeem both types of preference shares at 10% premium
after complying with neccssary provisions of the company Act. Investments were sold at
Rs.60,000. Cash on hand to be maintained in the business is Rs.30,000 for this purpose equity
shares were issued at par value of Rs.100 for each share in required numbers.

l? ass the journal entries in the books of Krishna Chemical Itd. from the above
Information.

Page3 of4 .
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on 3]-03-2020 is as under.

as [ Aes T
Sheet of Ram Lt @,__\ Rs) (i
Q3 Ma]‘"‘""e’__—/——,——:r’/ 0 | Goodwill
ity Ild?rlcnsh(t)lfe;{s 10 each fully 7,00,00 % 6
70,000 Equity sh: ' Patents
paid 6 shares of Rs.10 cach fully 4,20,000 2’10,00()
0 erence Shd . G . 6
s a/;dprc 2,80,000 [TH'TH;:ZrlCS 29 40y
15% Debentures " 42,000 | Building 5,46,000
Outstanding interest on dcbenturcs 2,10,000 | Stock 175,00
Creditors 28,000 | Bills Receivable 35,00
Unpaid director fees Bank Balanqe 70,000
Debenture discount 28,009
Preliminary Expenses 84,009
P & L Account L12,00g
16,80,000 16,80 03

2= Vs 00
. : —25000
A scheme of capital reduction as approved by the Tribunal was as under,

(1) Debenture holders agreed to waive their outstanding interest.
(2) Equity shares are to be r;duce(:id bydRs.St :2:;15 i
hares are to be reduced up . :
8; grreefiell;(e)?sc E:vsere valued at Rs.1,40,000 and Patents were valued at Rs.70,000.
(5) Goodwill and fictitious assets are to be written of, :
(6) Machineries and Buildings are to be reduced by 20%.
(7) The market price of Rs.70,000 stock is reduced by 10%.
Pass necessary Journal Entries in the books of the company. :
Q4 Jagnath Ltd. went into voluntary liquidation on 31-03-2020, when, the following Balance (1
sheet was prepared. :
Balance Sheet
Liabilities Rs. Assets Rs,
2,000 Equity shares of Rs.100 each fully paid up 2,00,000 | Building | 2,00,000
10% 1000 pref. shares of Rs.100 each fully paidup | 1,00,000 Furniture 4,000

General Reserve 4,000 | Machinery | 2,40,000

15% Debentures (Mortgage) 2,00,000 | Investments | 1,00,000
Outstanding Debenture Interest

| 30,000 | Stock 3,22,900
Bank loan (secured by Interest) = 80,000 | Debtors 24,000
Creditors it 2,00.00 9100
Providend fund A ’50’008 o
Outstanding salary of clerk (3 clerks for three month) | 18,000
Salary of workmen DS 18,000

BT . —
0,000
The bank has solq the investment -2:00,000 9.0

at book valye 5

K vas
returned to 'th? liquidator, Qther assets realized a5 under: o o .
Building "Ry 3,0p ggg Stock Rs.2,60,000
N}lmllfure Rs.2,000 Debtorsg Iis’20’000
Machinery  Rs3.00'000 o

Rs.15,000. Liquidatop i« .. : % o
ebenture holdgrs LIS entitled to get remuneration at 5% ¢

cumulative and Preference diyigon - were paid op 30-09-2020. Preference shares %
Prepare Liquidatops end s in arrerg for the 1ag

re
amount realized by him, D

ttwo

i fi ; years,

Q3 Writea short nog, oy two) i satmeny Of receipts ang Payments, (1
(A) Specimen of rofit ¢
(B) Provision o Prolitand Jogg Statemen

Feompy o er company A

ny Ae o Y Act 2013,

(C) Losses to b St ())'r/}.ct for redemption of redeemab g reference share
D) Preferenci ) YoM capital reqy of; l '
(D) Preferencig] creditorg, cton account,

L1
**************’k**********
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Instructions:
1. Figure to the right indicate marks.
2. There are five questions in the question paper,
3. Answer any three of the following questions.
Uil As i olotlelcdl A A Bl wwe wa 8. Wl 2019 e0atet 2,000 s (14)
Geuleol sRcllHl vlled] Aol Geulgot WRlal clatell st olA 3yosol B,
Qo yBa-13. | uBa-z23 | uBa-3z.

HIAU ML 3,800 1,200 500

1yl 2,000 2,500 1,500

Al wal 800 1,000 400

Wt Wl 3.1,200 &2l Aol A A8 YAl a2 HyRloll YWHIRHE sticlcllotl B. 23ulldel

3 Bazell A5 YBAR o2ll. GuRell @Qotdl urell el vitdl duR s

U2 vell 510 st wR @ewdll ® A, B A ¢ Geuteot [Qewat daut D Act Qewdt B, As Uetioll

el (@it oflA yrd viueuni vl 8.

(14)

(Qatet U 3.

uAe Wil 1,000

aug 2,200

ot HAHA 1,200

AR 900

gl 220

YuR(Axet WA 3,000

L] IR wetiozq 1,000

e 1,800

s Wl 11,320

GuRell UR [@Qatatell olley Bl QA yaud el
(Qa1et A B c D

A3l w2l (A.g2) 250 150 100 50
HoRo{l vl 24 16 12 8
_iﬂio{l (et 3.24,000 | 3.18,000 | 3.12,000 | 3.6,000
Yeual Uy 3.8,000 | 3.6,000 | 3.4,000 3.2,000
VRWR uldRe{l cural 3.800 3.45' 3.460- 3.200

Gurett Wulull %gel el (Qauall o Ao '52-01_ LA,
ol Aol Rl el

o Yob: cR€l uwdl
o AYdH AWl

YA.3(A) (10)
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N o v oa e
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Ys.4(A)

YA.5

(B)

HRAAl Yradl B, AsH €le usdR 3.20 B. dRElels dRel ysalell wRl 3.100 B. cget
scllell W 25% © Al wEls ael wedll k.
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G ERN '

Ra | s siMoll SEULSL
AHaAR 8
WwnaR : 10
WudlR =it
J3dR i)
9sclR 9
A arR ' 4
AcR 981

AL 5ol s WHARA YsclR 8 SEls, ARAR 4 SELs AHIRL 1l €2 SEUslL 3.5,
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SIHELRAR AUUR AR 2l YA SIHERIA AR 1Rl J0tecll £R0{l awLctd) 53
Atlut 1-4-201801L A% SIHELRACA Avaul 4,380.

dAtdlu 30-4-201801L A% sIHER vl 3,720.
AR 2018 eR Aot

APy vl gat 4 siHElRe{l dvau 380.
Rgrt 4 sHERNe{l Hvat 460.

old?% 4dct sIHELRLAl Hvaul 320.

atal At stHerloll vl 500 (stat Clude sHE A 140 spieldl Radel A%l
s A 8.)

A Aatinigl sual A W, _ !
(A) Ul Usd? uglett ceglloll ual s3,

(B) stRullell RAUA w2,
(c) wd wulef ABC adllszal,

(D) 3Rl UA AQot Actot Alxoll.

Dam~vrea ™ O A



Q.1

A product passes through three distinct processes to completion. This processes are (14)

ENGLISH VERSION (pcy O

p -

numbered respectively 1, 2 and 3 during the month of March, 2019. 2,000 unit are
produced. The following information is obtained.

Particular Process-1 Rs. Process-2 Rs. Process-3 Rs.
Materials 3,800 1,200 500
Labour 2,000 2,500 1,500
Direct expenses 800 1,000 400

The indirect expenses for the period are Rs.1,200 which are apportioned to the
process on the basis of labour. No work-in-progress of process Stocks existed at the
beginning or end of the month. Prepare a process accounts.

Q.2 Khushi company is having four departments A B and C are producing department (14)
and D is a service Department. The actual cost for a period of one month is under.

Particular Rs.

Indirect expenses 1,000

Rent 2,200

Plant repairs 1,200

Depreciation 900

Lighting 220

Supervision expenses 3,000

Insurance premium of | 1,000

plant

Power 1,800

Total -1 11,320

The following data is also available in respect of four departments.
Particular A B == PN & D

Area occupied square feet 250 150 100 50
Number of workers 24 16 12 8
Value of plant Rs.24,000 | Rs.18,000 | Rs.12,000 | Rs.6,000
Direct wages Rs.8,000 | Rs.6,000 | Rs.4,000 | Rs.2,000
Actual power used Rs.800 Rs.400 Rs.400 | Rs.200

Apportion the costs to the various departments on the suitable basis.

Q.3(A) From the following information, calculate:

Re-order stock level

Minimum stock level

Maximum stock level

Average stock level

Danger stock level
Maximum delivery period 45 days.
Average delivery period 35 days.
Minimum delivery period 25 days.
Maximum delivery period for emergency purchase 5 days.
Maximum rate of consumption per day 30 units.
Average rate of consumption per day 25 units.

Minimum rate of consumption per day 20 units.
Ordering quantity 600 units.

(10)

Page 3 of 4



(B) Jinesh nylon Ltd. purchase a given material in c!uantity (bulk) of 12,090 units, which (g
is its consumptipn for 6 month. Cost per unit is Rs.20. Cost pf placing an order js [
Rs.100, cost of storing is 25%. Calculate economic order quantity.
Q.4(A) Calculate the normal and overtime wages payable to a workman from the following (1

data.
Days Hours worked
Monday 8 1
Tuesday 10
Wednesday 9
Thursday 11
Friday 9
Saturday 4 "
Sunday Holiday

Normal working hours: Monday to Friday 8 hours, Saturday 4 hours.
Normal rate: Rs.5 per hours

Overtime: up to 9 hours in a day at single rate and over 9 hours in a day at double
rate.

(B) The following information is available from the personnel department of Jayshree (0
silk mills limited calculate the labour turnover rate. By replacement method and by
separation method.

Number of workers on 1-4-2018 4,380
Number of workers on 30-4-2018 3,720
During the month of April, 2018:

Number of workers resign. 380
Number of workers retired. 460
Number of workers dismissed. 320
Number of workers newly appointed 500(of which 140 workers were taken under
expansion plant) - '
Q.5 Write any two. (1

(A) Discuss the features of process costing.
(B) Factory overhead cost.

(C) Inventory ABC analysis.

(D) Halsey and Rowan plan wages system.

******************************
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{ Explain the following Terms.

ENGLISH VERSION

T Qot? oA

(1) Previous year.  (2) Person.  (3) Assessee
Q2 Mr. Rekhansh is a sales manager employed by L.G. Ltd.

(D
@)

€)
4)
©)
(6)
™)
(8)

©)

: at Pune. The details of his
salary and other emolument received during the previous yea

r 2019-20 are as under,
Basic salary Rs.4,20,000 per annum.

Dearness allowance (Treated as a part of salary for retirement benefits)
Rs.42,000 p.a..

Commission on sales Rs.1,75,000.

House rent allowance Rs.60,000 p.a. (Actual Rent Paid Rs.80
Transport allowance Rs.24,000 p.a.

Travel allowance Rs.1200 each for 5 trips (Actual amount spent on each trip
Rs.1000)

00 P.M.)

Tour daily allowance Rs:250 per day for 60 days in the year (Actual amount
spent Rs.9600 in total)

Uniform allowance Rs.900 P.M. (for purchase and maintenance), Actual amount
spent for that purpose at an average rate of Rs.750 P.M.

Research assistance allowance Rs.600 P.M. (Spent Rs.9000 during the year)

(10) Children education allowance Rs.9000 (for 2 children).
(11) Entertainment allowance Rs.6000 p.a.

Compute taxable salary of Rekhansh for the assessment year 2020-21.

Q.3 Shri Anil Shah is the owner of three Houses. On the basis of the following informations.

Compute his taxable income under the head “Income from House Property” for the
assessment year 2020-21.

Q4

Particulars House-1 | House-2 (Rs.) House-3
Rs.) (Rs.)

(1) Use of House Let out for Let out for For self

resident Business residence
(2) Municipal valuation (annual) 36,000 90,000 1,20,000
(3) Fair Rent (annual) . 40,000 84,000 --
(4) Receivable Rent (Annual) 36,000 72,000 -
(5) Standard Rent (Annual) 42,000 - 1,40,000
(6) Municipal Taxes (Paid) 2,000 4,000 4,000
(7) Interest on loan for construction 10,000 - 35,000
(8) Capitalised interest of Pre-| 10,000 - 40,000

construction period (total)
(9) Vacancy Period 1 month -- --
(10) Unrealized Rent - 4,000 - -
(11) Unreceived Rent (yet to be - 6000 ---
received)

(12) Land Revenue 2450 4,000 2,000
Mnstruction Completed on Dt. 31-1-16 30-6-19 31-3-04

(14)
(14)

(14

From the following information of Dr. Raj, compute his taxable income under the head (14)
“Income from business of profession” for the year A.Y. 2020-21.



Receipts & Payment Account
(For the year ended on 31-3 -2020)

Receipts Amt. Rs. Payments Rs,
To Balanced b/d 20,000 | By Hospital Rent 1,20,000
To Visit fees 30,000 | By Salaries 4,60,000
To Consulting fees 3,70,000 | By Telephone bill 6,000
To Sale of medicine 40,000 | By Purchase of books 4,000
To Operation fees 3,60,000 | By Daughter’s Expenses 70,000
To Operation theatre rent 15,000 | By Motor car Expenses 15,000
To Income from House Rent 20,000 | By Municipal taxes 6,000
To Salary from college 25,000 | By Traveling Expenses 4,000
To Profit on sale of shares & 45,000 | By Misc. Expenses 3,000
Interest income - | By Insurance Premium 5,000
To Dividend on shares. -5,000 | By Purchase of Medicine - 80,000
To Sale of Surgical Instrument. 110,000 | By Computer Purchase for son 40,000
To Gift from patient 10,000 ',By Closmg BaIance - |1,37,000
9 50,000 ( - 9,50,000

Additional Informauon SES

(1) Loss on Speculatlon Busmess Rs 15 OOO (Flfteen Thousand)
(2) Municipal taxes 1ncludes Rs. 1000 for res1dent1al house

(3) The opening stock of medlcme was Rs. 11, 000, wh1ch was 10% over valued.

While closing stock was Rs.54, 000 which was undervalued by 10%.
(4) Salaries include Rs.10,000 paid to his son, who is studymcr in college
(5) Hospital Rent includes 40% for residential house. -

(6) Insurance Premium includes Rs.3,000 for life msufauce prem1um

(7) The opening W.P.V. of motor car was Rs.1,00,000. Depreciation. Allowable is
15% motor car is used for office and personal use in the ratio of 2:1.

Q.5 Write short note on. (any two)

(1) Explain Residential status of an individuals.

(2) Deduction available under the ‘Salaries’.

(3) Explain Gross Annual value & Net Annual value.
(4) Deduction Expressly Allowed Under (close 30 to 38) Income from Business &

Profession.
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Rlott NO 6

Lo} BCM3Bc1C106x Seat No :
B.Com. Semester - 3 (CBCS) Examination
December.-2020 [NEW COURSE]
Business Communication - 1(Core)

I ictions:

rure to the right indicate marks.

ere are five questions in the question paper.
iswer any three of the following questions.

1:30 Hours Marks: 42

.1 What is communication? Discuss in detail the process of communication and

different parts of communication.
.2 Discuss in detail the various types of non-verbal communication.
;.3 Explain in detail the essential qualities of a business Ietter.
2.4 Write a suitable letter on following topics.
(1) Write a letter of inquiry for the stationary items. ke
(2) Write a letter a order for washing machines and ACs.
2.5 Write any two short note on the following topips.' :
(A) Explain with various examples of different barriers of communication.
(B) Face to face communicgtion.
(C) The outer parts of a business letter.

(D) Write a suitable letter of execution of an order for the LED TVs and

Refrigerators.
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Time: 1:30 Hours

Instructions:

BCM3AC3E107A
B.Com. Semester - 3 (CBCS) Examination
December.-2020 [NEW COURSE]
Accounting-3(Elective)

1. Figure to the right indicate marks.
2. There are five questions in the question paper.
3. Answer any three of the following questions.
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ENGLISH VERSION ([ [0V "1
Q.1  From the following information of Madhuri Ltd. Find goodwill by five years purchase of (14)
super profit.
Particulars : Rs.
(1) 10,000 Equity shares each of Rs. 100 10,00,000
(2) 10% 3,000 Preference share capital Each of Rs. 100 3,00,000
(3) P & L A/c (Credit) | 58,000
(4) General Reserve 52,000
(5) creditors : ) 1,25,000
(6) Provident Fund ; 80,000
(7) Bills Payable 45,000
(8) Last Four year profit (Before 60% tax Prov151on) -18,00,000
(9) Normal rate of return on capital Employed : 8%
(10) Risk return rate on Capital Employed - - 2%

Fictitious assets are 5% of total assets while fixed assets are 70% of total assets and
current assets are 25%
The market value of fixed assets are 30% more than their book value. While the book
value of current assets are of Rs. 25,600 more than their market value.
Q.2 Prepare Revenue Account of the business from the following details for the year (14)
ended dated 31-03-2020

Particulars , Rs.
Opemng Balance of Reserve for unexpired risk @50% 1,80,000
Additional Reserve ; 36,000
Opening Balance of Estimated liabilities for claims 31,000
Closing Balance of Estimated liabilities for claims 42,000
Claims Paid 3,65,000
Legal Expenses 6,000
Re-insurance Recoveries 32,000
Medical Expense 4,000
Bad debts 800
Premium Recovered 4,86,000
Premium on Re-insurance Accepted 32,000
Premium Re-insurance Ceded 43,000
Commission on Direct business 48,600
Commission on Re-insurance Accepled 1,600
Commission on Re-insurance ceded 2,150
Administrative Expenses 90,000
Interest, dividend, Rent etc. 24,000
Profit on sale of Investments 3,000

Create reserve at the end of the year to the same Extent as on first day of the year.
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Q.4

Q.5

Following Particulars are taken from accounts of a transport company for 5 month Ay
2020. | ’

Possible working days 26
Actual working days , 22
Journey performed (kms) 880

No. of trips 33
Quantity transported (in ton) 330
Annual Estimate of working days 275
Expenses of Vehicles during April-2020

Petrol, Oil and Greece Rs.300
Driver’s salary (monthly) Rs.200
Cleaner’s salary (monthly) Rs.100
Maintenance (for 2020) Rs.2720
Mechanic’s salary (monthly) Rs.100
Fixed Expenses During 2020

Capital Expenditure Rs.21,600
Scrap Realization Rs.1,600
Useful Life 5 years
Adm. Exp. (2020) Rs.5,500

Calculate Cost Per ton Kilometre and Per day.
Savan Ltd. was incorporated on 01-07-2020 to Purchase exiting business of M/s, Sahil
Brothers with effect from 01-03-2020. The certificate of commencement of business was
received on 01-08-2020. First final Accounts of the company will prepared on 31% Dec.2020.

Prepare statement showing profit or loss prior to and after incorporation from the information
given below: ‘

Particulars Rs. . Particulars " Rs.
Gross profit 1,80,000 | Rentup to 3 1-08-2020 7.200
Sales Expenses 9,900 | Rent after 31-08-2020 (annual) 24,000
Salary Expenses 20,000 | Donation to political party , 8,400
Travelling Exp. 3,600 | Commission to Sahil brothers for management of 5,000
General Exp. 4,000 | business -

Director fee 15,000 | Bad-debts 1,800
Depreciation 12,000 | Bad-debts Reserve 3,000
Preliminary Exp. 5,000

Total sales were Rs.12,00,000 out of which sales of Rs.4,00,000 were for period before 1
July-2020. |

Write a short notes. (Any two)

(1) Factors affecting to goodwill,

(2) Characteristics of Operating Costing,

(3) Profit before incorporation.

(4) Expected Rate of Return and Expected Profit.,
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B.Com. Semester - 3 (CBCS) Examination
December.-2020 [NEW COURSE]
Computer Science - 3(Elective)

Seat No :

Time: 1:30 Hours

Marks: 30
Instructions:
1. Figure to the right indicate marks.
2. There are five questions in the question paper.
3. Answer any three of the following questions.
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UH.R Auto size, Back color, Cancel, Font, Locked 1)11{5[05 CLQidl. (10)
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4. VB ol Form, Command Button, Label, Option Button, Text Box Controlse{l Gua(lclt
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2. VB ell Sleull Wi selcoll Bace Mudl wguell Aall Guaot agldl.
3. Combo Box A Frame Control 203l GEL&WQL WA aglal.
¥. Key Press, Got Focus, Scroll, Window State, Change Qudlosell Gulol aglal.
ENGLISH VERSION
Q.1 Describes controls of VB in short. (10)
Q.2  Describe Auto size, Back Color, Cancel Font, Locked properties of control. (10)
Q.3  Describe Print statement with different options. (10)
Q4 Describes Auto Events of form control. (10)
0.5 Writes answer any two of following questions. (10)

1.

Describe usage of Form, Command Button, Label, Option Button, Text Box controls
of VB.

Explain default property of any five controls of VB,

Describe Combo Box and Frame control with proper example,

Describe usage of Key Press, Got Focus, Scroll, Window State, Change properties.
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B.Com. Semester - 3 (CBCS) Examination
December.-2020 [NEW COURSE]

Banking & Finance - 3(Elective)

Seat No:

Tme 130 s
1. Figure to the right indicate marks.

2. There are five questions in the question paper.

3. Answer any three of the following questions.
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ENGLISH VERSION

Q.1  Whatis a Payment bank? Explain the functions of Payment bank. (14)
Q.2  Discuss the modern services of the banking sector in India. (14)
Q.3  Discuss the different types of securities. (14)
Q.4  Explain the provision of Banking Regulation Act.1949. (14)
Q.5  Explain the meaning of merchant banking and its functions. (14)
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